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VEIERE (2602 —R24) W AR HENRAL NEEFAELE | KRFES
. FTIHAETRABREYSRIREY 7 (A) SRR 8) EEE (O MiE=D) i

B e

. FHHTETRAREAFRMEES T ? (A) DNA (B) Ca™ (C) cAMP (D) cGMP

TARBRILRENE > —RBRBREASN G BoFRA%  TRHMEMREE?(A) %
BhFTHFREREREFNAE B) LHBHLFRAHTAGEF LEAL MG LARE
(C) —#B58 FNSH BRSO R ARG D) ¥ioHhdiFRERILEER

CADDSH ATyl B B R ATRHRBF AT IMTHRER ? (A) B (B) 2R (C) RfFHE

®E D) BREARRE

. THIERMEERESCE - FMIETER? (A) HEmiElREER (B) BARENERRS

(C) TARMEFEE (D) SUAEARIEE - BiEE

BB EARIRERXHTANEARE? (A) A B) #& (C) BHREE (D)

EEBE

L AR RREEZR O T IMTESZ G E AT (A) fibrin (B) plasmin (C) thrombin (D)

fibrinogen

GEREETHAR (A) BEEHET B) REHET (O UMK (D) SWHIERER

 RARAMBRTERARTAE - EMBSRT  RERBRREES (A) ABMKEBITHE

1k (hCG) (B) e E (FSH) (C) 4idiest##E% % (GnRH) (D) % H¥%
% (LH) -

HAMIEC (apoptosis) (A) S R BB AT (B) #¥EHBEF C) #LA25E8 (D)
THRERERET

THEMmpEi (S,M G1,G2) RS » 5 E& T
(A) Gl—=8—G2—M (B) G1=G2—~S—M (C) G1-G2—>M—S$ (D) G1->M—~G2—~S

% M -EHEe SRR AR

(A) ¥ ik &9 B 98 (amplitude)

(B) ¥ (cochlea) WA R ELMMt) ES

(C) FERARE-DFe RS _

(D) A% (round window) 2 $PE % (oval window) 8 E %

ABEXEHPRTHMBEERELM? (A) luteinizing hormone (B) follicle stimulating
hormeone (C) human chronic gonadotropin (D) estrogen

B—RIPSP# > REAREES THARD T HBER RN ?2(A)K B) Na*_ (C)Ca™ (D)

acetylcholine
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15. THIA MEBHERLE T eyt £ ek ?
(A) Most of the genes in the nucleus are active during cleavage.
(B) The egg cytoplasm helps control the differences among cells.
(C) The yolk present in the egg enhances embryonic cleavage.
(D) The cells of the animal pole are larger than the cells of the vegetal pole.

16. #F & AR AE Loy K E4-F4 > £ ¥ e (A) haploid sporophyte (B) d1p101d
sporophyte (C) haploid gametophytc (D) diploid gametophyte

17. FHTEFE ﬁ"}ﬂ.ﬁiﬁ*’z}ﬁ% t&7 454 7 (A) flowers are small (B) produce nectar (C) petal
msignificant (D) usually ordorless

18. FHAMHB»EETH ?E’ﬁ"i#ﬁ% ? (A) Mycorrhizae (B) Cycadophyta (C) Cordates (D)
Lycophyta

19. Danna & R EFHRT — B i%%’}.#% P R BBANGTREL SRR % 0l “F-*&—*
18 ba o AT A Wy @M% (dikaryotic) - ZERMBL RLHAMEH i#ﬁ!)@:‘im
(A) A plant gametophyte (B) A fungus
(C) A liverwort (D) Some kind of fish

20. Gemma % b4k #) — B 45 2k 3% » RN T Flfard ?
(A) diploid sporophyte (B) haploid sporophyte;
(C) diploid gametophyte (D) haploid gametophyte

21. F FITH 6k fe BB 2K 96 7 (A) rats (B) lily (C) charophytes (D) mosses

22, BYUECEAKEMM% 1) Ovaryr2) Owvule: 3) Integument
&) isn> @) is2n- &) developinto fruit + ¥) develop into seed
(A)1-% > 3% (B)1-& » 3-8 (C)2-% » 3-K (D)2-% » 3-&

23. Transcription % ¥ F 74746 8 % ## 4t ? (A) DNA polymerase (B) RNA polymerase (C) helicase
(D) protein kinase

24. BIRZER D P B 2k o B 1% 8 ¥ (genetic drift) » #52% ©

(A) the founder effect; (B) Hardy-Weinberg equilibrium;
(C) the bottleneck effect; (D) stablizing selection
25. T 315 Bl Archaeaty 4 st 47 % E.5% ?
(A) are prokaryotes (B) are Gram-positive;
(C) are Gram-negative (D) include viroids and mycoplasmas

26. T FTHH M4 B (red algae) e gLk T 24837 2
(A) have flagellated cells (B) have spermata and carpospores;
(C) have two diploid sporophyte phases (D) have a single haploid gametophyte phase

27. AT RBMGERT » BABMRTHRLHEELRL? (A)high humidity (B) hot dry
weather (C) cool temperatures (D) darkness
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28 REMSTHBEILTY  BRODWERTETZ T4 B EAMER?(A)IAAB)
phytochrome (C) ABA (D) gibberellins

29. FIMaE B AA4E R T B Frubiscoty g 7
(A) the formation of glucose and fructose from their immediate precursor,
(B) the synthesis of sucrose from glucose and fructose;
(C) the initial fixation of CO; into organic molecules;
(D} the splitting of water into protons, electrons, and oxygen

30 HEABERBATIEMERET ? (A)berries (B) schizocarps (C) drupes (D) pomes

MR E A THENREL THEERELE ), KANFS  LETHFEZARAFRIDEAR
=~ BA (104) #ESFEA-L) BEFEERARCHHE (TEE)

AE B EIR
1 | Ginkgo A. plasmodesmata G. microphyil
2 { Rose B. zoospores H. flagellated sperms
3 i Red algae C. dikaryotic cells I. dolipore
4 | Ascomycota D. double fertilization J. gemmae
5 | Lycophytes E. secondary endosymbiosis | K. produce seeds
- - F. ascus L. mycelia

=~ BEAR (#3050 —&3D)
1. Imperfect flower (48 ¥} #perfect flower)

2. Epistasis (in genetics)

3. Allopolyploidy

4. Monophyletic group

5. A BERBERHEDILAER
6. duodenum

7. homeotic gene

8. tropomyosin

9.saltatory conduction

10. major histocompatibility



